- You may have to zoom in to see the smaller numbers.

- Please number the answers to according to the question numbers and letters.

- Please include all steps when answering.  

- Please make sure that the answers are legible if done on paper, or if done on computer, please make sure that the proper symbols are used. 

- Please include all necessary work to arrive at the correct answer
* These questions are a review for a first year University calculus class.
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a) Give the domain of g in interval notation.
b) Give the domain of fin interval notation.
c) Give the domain of A(x) = % in interval notation.
x
(9 pts)
Sketch the graph of a function f which satisfies all of the following conditions.
a) it is an even function.
b) A0)=0.
c) lim f (x) = 0. (4 pts)

Find the point (a,b) on the curve y =+/x+2 such that the equation of the tangent line to
the curve at (a,b) is parallel to the line 9x -2y =1.

(4 pts)
Evaluate each of the limits below. If a limit does not exist, explain why.
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Let /(2)=3, g2)=6, g'(x)=(x"-4x)*, f'(x)=v3x+1

Evaluate each of the following:

a)

dx g(x)'

b) %g(f(x))

x=2 °

) %f(x)g(x)

¥=2 "
(12 pts)
3 2 ) du
Let u =sin(y° —-1), y =tcos(3¢). Find e (5 pts)
Use implicit differentiation to find the points on the curve e 1
X=y
where the tangent line is horizontal. (6 pts)

The side of cube is measured to be 3 cm with an error of measurement of 2 mm. Use
differentials to find the errors on measurement of its volume. (6 pts)

The distance traveled of a particle is given by the function x(¢) = 2¢* — 4> +12¢ +18.
Give the initial velocity and acceleration of the particle. (5 pts)

Use differentials to find an approximately value of tan(42°) (6 pts)

A woman standing on a cliff is watching a motorboat through a telescope as the boat
approaches the shore line directly below her. If the telescope is 100 m above the water
level and if the boat is approaching the shore at 5 metres per second, at what rate is the
angle of the telescope changing when the boat is 100 m away from the shore?

(6 pts)




